Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232 /777 00

Fax: 02232 /777 00 - 40

Mail: verkauf@makita.at

Web: www.makita.at

V77717, dbds

Makita Service Information / Model: BSS500

Seite 1/5

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:48:38 AM /



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232/777 00
Fax: 02232/777 00 - 40

'II A ! 4 A 4o 4 ! Mail: verkauf@makita.at

Web: www.makita.at

Makita Service Information / Model: BSS500

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis
1 266053-1 SKRUTKA SAMOREZNA  4x35 3 N/A
2 643807-7 VIECKO 6347D/BCS550/BJV1 2 N/A
3 191971-3 UHLIKY CB-430, 438 (CB-420) 1 N/A
4 188209-5 Housing Set 1 N/A
4 ¥ INC. 5 N/A
5 188209-5 Housing Set 1 N/A
5 **INC. 4 N/A
6 265995-6 SKRUTKA SAMOREZNA 4x18 4 N/A
7 863419-2 TYPENSCHILD BSS500Z2 1 N/A
8 638502-2 Endbell Complete 1 N/A
8 638925-4 ENDBELL COMPLETE 1 N/A

8.2 638925-4 ENDBELL COMPLETE 1 N/A
9 638420-4 YOKE UNIT 1 N/A
9.2 638420-4 YOKE UNIT 1 N/A
10 265995-6 SKRUTKA SAMOREZNA 4x18 7 N/A
11 419661-9 HANDLE L BCS550RFE 1 N/A

11.2 453426-9 GRIFF L BCS550RFE 1 N/A
12 231469-9 COMPRESSION SPRING 4 1 N/A
13 419664-3 Lock Off Lever 1 N/A
14 651956-6 VYPINAC TG72BD 651956-6 1 N/A
15 231469-9 COMPRESSION SPRING 4 1 N/A
16 419665-1 Switch Lever 1 N/A
17 631686-5 Stromkreiseinheit BSS500 1 N/A
17 620124-2 POWER SUPPLY CIRCUIT 1 N/A

17.2 620124-2 POWER SUPPLY CIRCUIT 1 N/A
18 911133-5 SKRUTKA M4x18 1 N/A
19 419936-6 GRIFF R BSS500Z 1 N/A

19.2 453425-1 GRIFF R BSS500Z 1 N/A

19.3 453153-8 GRIFF R BSS500Z 1 N/A
20 643811-6 KONTAKT NA BATERIU 14,4V 1 N/A
20 643847-5 TERMINAL new 1 N/A

20.2 643847-5 TERMINAL new 1 N/A

20.2 643867-9 TERMINAL BST110 BDA340 1 N/A

20.3 643867-9 TERMINAL BST110 BDA340 1 N/A
22 911133-5 SKRUTKA M4x18 3 N/A
23 421977-0 KRUZOK GUMENNY 13 1 N/A
24 619214-6 Anker BSS500Z 1 N/A
25 345643-4 Shaft Lock 1 N/A
26 233117-6 PRUZINA PRITLACNA 6 GA7010C/9010C/S| 1 N/A
27 419656-2 Gear Housing 1 N/A

Seite 2/5

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:48:38 AM /



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232/777 00
Fax: 02232/777 00 - 40

'II A ! 4 A 4o 4 ! Mail: verkauf@makita.at

Web: www.makita.at

Makita Service Information / Model: BSS500

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis
28 213560-5 O RING 44 1 N/A
29 210048-6 Ball Bearing 60427 1 N/A
29 210036-3 Ball Bearing 60427 1 N/A

29.2 210036-3 Ball Bearing 60427 1 N/A
30 324729-7 Gear Shaft 1 N/A
31 226643-2 KOLESO OZUBENE 35 1 N/A
32 210080-0 BALL BEARING 6900ZZ 1 N/A
33 226635-1 KOLESO OZUBENE 15 1 N/A
34 631550-0 Led Circuit 1 N/A
35 262566-0 RUBBER SLEEVE 6 1 N/A
36 262563-6 SLEEVE 4 1 N/A
37 265999-8 SKRUTKA SAMOREZNA 4x25 1 N/A
38 318152-6 Blade Case 1 N/A
39 419935-8 BLOWER NOZZLE 1 N/A
40 266026-4 SKRUTKA 4x12 1 N/A
41 210006-2 LOZISKO GULICKOVE 696ZZ 2106 1 N/A
42 961006-2 POISTNY KRUZOK S-10 1 N/A
43 226640-8 HELICAL GEAR 23 1 N/A
44 257760-7 SLEEVE 10 1 N/A
45 285847-5 BEARING RETAINER 14-23 1 N/A
46 210069-8 BALL BEARING 6900DDW 1 N/A
47 213435-8 0-KRUZOK 26 HR3000C/HR3550C 1 N/A
48 318087-1 Bearing Box 1 N/A
49 324730-2 Spindle 1 N/A
50 265034-2 SKRUTKA M5x16 2 N/A
51 345470-9 THICKNESS RING 1 N/A
53 231835-0 TENSION SPRING 4 1 N/A
54 419933-2 Safety Cover 1 N/A
55 267127-1 PODLOZKA 26 9046/HR2010 1 N/A
56 257938-2 RETAINING RING (ext.) WR-26 1 N/A
57 224391-7 INNER FLANGE 30 1 N/A
58 224404-4 OUTER FLANGE 30 1 N/A
59 266226-6 HEX. SOCKET HEAD BOLT M6x18 1 N/A
59 266458-5 HEX. SOCKET HEAD BOLT M6x18 1 N/A

59.2 266458-5 HEX. SOCKET HEAD BOLT M6x18 1 N/A
60 961014-3 BLOKOVACIi KRUZOK E-8 961014-3 1 N/A
61 272229-0 PACKA 40 1 N/A
62 252159-1 HEX. NUT M6 1 N/A
63 941151-9 PODLOZKA 6 1 N/A
64 331733-9 Pipe 6 1 N/A

Seite 3/5

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:48:38 AM /



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232/777 00
Fax: 02232/777 00 - 40

'II A ! 4 A 4o 4 ! Mail: verkauf@makita.at

Web: www.makita.at

Makita Service Information / Model: BSS500

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis
65 252103-8 MATICA M5-8 252103-8 1 N/A
66 158252-8 Base Complete 1 N/A
67 265056-2 + PAN HEAD SCREW M5 1 N/A
68 266405-6 BOLT M6x75 1 N/A
69 266225-8 HEX.SOCKET HEAD SCREW M6X8 1 N/A
70 251919-8 SKRUTKA 6X20 1 N/A
71 251896-4 SCREW M5x20 1 N/A
72 231007-7 COMPRESSION SPRING 6 1 N/A
73 941151-9 PODLOZKA 6 1 N/A
74 252133-9 MATICA M6 3901 1 N/A
75 272251-7 LEVER 30 BSS610SF 1 N/A
76 961014-3 BLOKOVACI KRUZOK E-8 961014-3 1 N/A
77 267231-6 PODLOZKA 1 N/A
78 620260-4 CONTROLLER 1 N/A

1001 164095-8 GUIDE RULE 1 N/A

1002 194415-2 DUST NOZZLE SET 1 N/A

1003 ***DC18RA DC18RA FAST CHARGER 1 N/A

1003 ***DC18RC DC18RC FAST CHARGER 1 N/A

1003.2 ***DC18RC DC18RC FAST CHARGER 1 N/A

1004 194065-3 BATTERY BL1430 SET 2 N/A

1004 194065-3 BATTERY BL1430 SET 2 N/A

1004.2 194065-3 BATTERY BL1430 SET 2 N/A

1004.2 194065-3 BATTERY BL1430 SET 2 N/A

1004.3 194065-3 BATTERY BL1430 SET 2 N/A

1004.4 194065-3 BATTERY BL1430 SET 2 N/A

1004.5 194065-3 BATTERY BL1430 SET 2 N/A

1004.6 194065-3 BATTERY BL1430 SET 2 N/A

1005 783203-8 HEX. WRENCH 5 1 N/A

1006 824802-8 PLASTIC CARRYING CASE 1 N/A

1006 821551-8 CONNECTOR PLASTIC CASE (TYPE3) 1 N/A

1006.2 141485-2 PLASTIC CASE COMPLETE 1 N/A

1006.2 821551-8 CONNECTOR PLASTIC CASE (TYPE3) 1 N/A

1007 805448-9 Aufkleber Koffer BSS500Z 1 N/A

1007 837628-9 INNER TRAY 1 N/A

1008 B-09949 T.C.T.SAW BLADE 136X16T 1 N/A

1009 450128-8 BATTERY COVER 1 N/A

1010 800TO1-6 BSS500RF) INDICATION LABEL 1 N/A

1010 800T03-2 BSS500Z) INDICATION LABEL 1 N/A

1011 800T02-4 BSS500RF) PLASTIC CASE LABEL 2 N/A

1011 800T04-0 BSS500Z) PLASTIC CASE LABEL 2 N/A

Seite 4/5

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:48:38 AM /



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232/777 00

'Il Y 4 Y 4 Fax: 02232 /777 00 - 40
A A 4 A A A A Mail: verkauf@makita.at
Web: www.makita.at

Makita Service Information / Model: BSS500

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis
5001 688131-1 FILTER MT240 HM1801/1810 1 N/A
5002 688165-4 LINE FILTER 1 N/A

Seite 5/5

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:48:38 AM /


http://www.tcpdf.org

